
30

23

28

29 27 21

22

19

20

18
9

8 7 12

26

2 4 5

24

3

11125 10

13

14

1716

15

6

10

32

31

CR100 PE BOM

ITEM NO. QTY. PART NUMBER DESCRIPTION MATERIAL PRICE COMMON

1 1 CR10008 HOUSING, DRIVE CASTING £1300.00

2 1 CR10016 BUSHING CROSSHEAD GARLOCK 56DU80 £250.00 CD100

3 1 CR10017 SEAL CROSSHEAD 60% BRONZE FILLED TEFLON £24.00 XL2/SG 1.5/CD100

4 1 CR10007 INTERMEDIATE STAINLESS STEEL 303 £565.00

5 1 CR10010 COVER, INTERMEDIATE POLYCARBONATE (3"O.D X 1.25W) £15.00

6 1 CR10028 COVER BEARING 8" DIA 43A £295.00 CD100

7 1 CR10003 RETAINER, BEARING S.S. (2.00 DIA BAR)  1.9" OD £65.00 CD100

8 4 CR10019 SEAL, BEARING NYLOS RING 6308AV £18.00 CD100

9 2 CR10004 SPACER, BEARING SS (2.00 DIA BAR) 1.9" OD X 0.6"WIDE £25.00 CD100

10 2 CR10020 BEARING, ROLLER

11 1 CR10014 ECCENTRIC (1.25) STROKE CS 8620 3.25"BAR OR EN 24 T £325.00 CD100

12 1 CR10022 SOCKET HEAD CAP SCREW

13 1 CR10006 COVER, BEARING 8"DIA 43A £335.00 CD100

14 1 CR10018 EXCLUDER TEFLON (PTFE) 64MM O.D. £18.00 CD100

15 1 CR10005 SHAFT, DRIVE H11,H13 OR EN 24T (2.00 DIA BAR) 8.4" £450.00 CD100

16 1 CR10001 KEY, DRIVE SHAFT CS 0.5 SQU BAR £12.00 CD100

17 1 CR10011 KEY, ECCENTRIC 0.375 KEY X 1.5 £15.00 CR100/CR200

18 1 CR100154 CROSS HEAD PISTON ASSY 3.5" OD OUTER BUSH CR 200 BIN 13 £484.00

19 1 CR100152 WRIST PIN STEEL 8620 / EN24T £125.00 CD100/CR200

20 2 CR100153 WASHER THRUST GARLOCK 0.028" THK £12.00 CD100

21 1 CR100151 CONNECTING ROD ALUMINIUM 356-76 5" X 9" X 1.25" THK £350.00 CD100

22 1 MR-20-SS ROLLER BEARING

23 1 MR-48-SS ROLLER BEARING

24 6 HBOLT 0.3125-
18x1.25 SCREW, HEX HEAD 1/4 - 20 X 1/2 X 1/2N STAINLESS STEEL

25 4 CR10023-3 STUD THREADED SS 5/16" - 18TPI - 8"OD £20.00 CD100

26 8 CR10021 DOME NUT, NYLOK (5/16 - 18 UNC)

27 2 CR20025 SOCKET HEAD SCREW CUP POINT

28 1 CR100156 GREASE NIPPLE 1/4" - 20 UNC £2.00 CD100

29 1 CR10002 COVER END ALUMUNIUM (PLATE 0.250 THICK) £85.00 CD100

30 4 CD10025 SCREW, HEX HEAD 1/4 - 20 X 1/2 X 1/2N STAINLESS STEEL

31 1 CR10015 CROSSHEAD ROD ASSY £1200.00

32 1 CR100 PE POWER END 1.25" £3695.00

CRYOGENIC &
INDUSTRIAL SPARES

 

tel: +44(0)1493 732700
fax: +44(0)1493 733277

e-mail: cryoind@btconnect.com
www.crogenicind.com

 

CRPE100-1 POWER END EXPLODED WITH BOM

DRG REF:-CWD-019-1


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


